Summer 2023
Honors Geometry Summer Packet

Completion of this packet is required for all students enrolled in Honors Geometry for the upcoming
school year. It looks long because it has review examples — you only need to do the circled
problems. In addition to this packet, students are expected to have memorized the following:

e Multiplication factsto 12 x 12

e Perfect squares and square roots up to 15x15

The expectation for Geometry Honors is that you do your work in pencil on separate lined paper,
copying each problem and showing all of your work neatly. In this class, no work = no credit. Clearly
number each topic and problem. Calculators are NOT permitted.

Each page of the packet summarizes a concept with examples. Use those examples if you have
trouble remembering how to do any of the problems. When you have finished the packet, check
your answers against the answer key provided. Rework incorrect problems in a red or green pen
until you are able to reach the correct answer. If you get stuck, use an old textbook, the internet, or
one of the following websites:

www.purplemath.com
www.khanacademy.org
www.mathbitsnotebook.com
www.mathantics.com

This packet should be completed without a calculator. Calculators will not be used until at least
second quarter of the school year in this course.

On the first day of school, this packet will be checked for completion, which includes neat and
complete work on lined paper, and corrections made with a colored pen. A test on the material in
this packet will be given during the first few days of school as your first test grade of the year. The
score on this test is a strong indicator of success in this class, and the math department reserves
the right to re-evaluate your placement if you do not score at least 75% on this test. Content from
the packet will not be reviewed during class time.

For Geometry Honors, the following materials will be required:
¢ Two thin and two chisel tip black Expo markers (to be with student in class at all times) !
e Graphing calculator (TI-84 Plus or TI-84 Plus CE). Casio calculators are not permitted. :
¢ 1”7 binder plus a spiral or composition notebook dedicated to math. Notebooks and binders
may be collected from time to time for grading, so your binder and notebook must be
dedicated to math.
e Pencils (pens are not permitted for math work, even if erasable), mechanical recommended
Highlighters (2 colors)
6-inch or 12-inch ruler
Protractor
Graph paper and loose leaf paper

Good luck, pace yourself, and have a great summer!



Name

Rewriting Literal Equations

An equation that has two or more vanables is called a literal equation. To rewrite a literal equation,
solve for one variable in terms of the other variable(s).

Example 1

Solve each literal equation for y.

Date

a. Ix + Sy =45 b. 2oy +5y=7
3x— Jx+ 5y =45 - X Subtract 3x from each side. W2 +5)=17 Distributive Property
Sy =45 - 3x Simplify. W2 +5)_ 1 » . ;
P MU= Dwideexchsideby2x+S
vV = X . 2
y=9-3 Simplify "
5 i mnwriucnﬁlazlequaﬁonby=2:+s.
B The rewritten literal equationis y = 9 — 3x.
c 2:=——-—3:"
3+ 2 A
2:~_\'=T--) Muitiply each side by .
2y=3+y Simplify.
2y —y=3+y~—) Subtract y from each side.
2y-y=3 Simplify
W2&x-1)=3 Distributive Property
y2x=1) .. :3 2 : "
e e Divide each side by 2x — 1.
- 3 S
Yy == Simplify.
B ‘Iberewrinwliu:leqmﬁonisymi‘%l.
r -
Practice Check your answers at BigldeasMath.com.
Solve the literal equation for y.
L. x+3y=9 2 4&x-2y=16 3. xx+7y=S§
4 ux+3y=6 5 Sx—4y=10 6. x—2y=8
7. 2y—-6=8 @4x=9y+xy 4yz=3y-8x
(1) 293044 (122~ e
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Solving Linear Equations

To determine whether a value is a solution of an equation, substitute the value into the equation

and simplify.
Example 1  Determine whether (a) x= 1 or (b) x= —~2 s a solution of 5x - 1 = 4,
& Sx-1=-2u+6 b Sx-Il=-2=x+6
S1)-1221)+6  Substite S-2) =12 -2-2)+6  Substitute
4=4 v Simplify. -1n#10 X Simpiify.
P So,x=1isasolution. P So,x = —2is not a solution.

To solve a linear equation, isolate the variable.

Example 2 Solve each equation, Check your solution,

L 4x-3=13 b A -8=y+6
&x-3+3=13+3 Add 3. - 16=y+6 Distributive Property
4x =16 Simplify. y-y=16=y~-y+6 Subtracty.
: %.‘76 Divide by 4. y=16=6 Simpliy.
| y-16+16=6+ 16 Add 16,
i x=4 Simplify. :
i y=2 Simplify.
| Check Check
4x-3=13 2Ay—-8)=y+6
?
! 48)-3<13 A2 -8)222+6
‘ B=13v 8=28v
r = TN
Practice Check your answers at BigideasMath.com.

| Determine whether (a) x = —1 or (b) x = 3 is a solution of the equation.
| 1 Sx+7=2 @-4:+8=-4 (3)x-1=2-4

Solve the equation. Check your solution.

4 x-9=2% 5. n+14=0 6. ~16=4dy

7. ~t=-I5 8 81=46~x 9. dx+5=1

10. x+5 = 1ix 1. 9y - 3) =45 12. 6=Tk+8—k

13. 6043 = —dn+7 @Zc+5=3(c-8) (85) 18m + 32m +8)= 0
1. "—;—6--:8 17.'—5-;—”=1o 1:.3—'5ﬁ=x

19, Br+6)+@r—1)=14 @§y-3=9 @%x—-l’a=%x+%

22. MONEY You have a total of $3.25 in change made up of 25 peanies, 6 nickels, 2 dimes, and
x quarters, How many quarters do you have? k
e e e e ——————————— e S e’
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REVIEW: Pythagorean Theorem
~Key Concept and Vocabulary ~

In any right triangle,

Pythagorean
G and bare leg Iength) Theorem

v v ' 0
2R =

&is the length of the hypotenuse.)
| ————— )

Skill Examples
1. @+ =¢
62 + 8% = &

6cm

100 = 2

10cm=c¢

2. a2+ P=¢
52+ b* =13
b =144 13ft"';‘;"b
b=12ft '

PRACTICE makes PURR-FECT®

Find the missing length of the triangle.

]

C 15 yd

RAMP You make the skateboarding ramp shown. Find the

@height of the ramp.

Copyright © Big Ideas Learning, LLC

Name

Visual Model

s 3+ 42 =5

4in.

Application Example

3. The base of a ladder is 9 feet from a building.
The ladder extends 12 feet up the side of the

building. How long is the ladder?

‘The ladder is the
hypotenuse of a
right triangle.

d+bP=7
92 +122 = &
225 = ¢ 9 ft

12 ft <

15=¢

i+ The ladderis 15 feet long.

Check your answers at BigldeasMath.coni.

Skills Review Topic 19.5
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Name Date

Properties of Square Roots
A radical expression is an cxpression that contains a radical. A radical expression involving
square roots is in simplest form when these three conditions are met.

+ No radicands have perfect square factors other than 1.

« No radicands contain fractions,

= No radicals appear in the denominator of a [raction.

You can use the propertics below to simplify radical expressions involving square roots.

e e
Product Property of Square Roots Quotiem Property of Square Roots ]

Vab = Va +« Vb, where a. b 2 0 \i lg wherea 2 0and b > 0 '
- Vb
e 13
Example 1 Simplify (3) V75 and (b) \35
a \75=V25.3 Factor using the greatest perfect square factor.
=V25.V3 Product Property of Square Roots
=5/3 Simplify.
b. \."l—"‘- = ﬂ Quotient Property of Square Roots
25 vas
E o
E a—— S 2
5 implify.

When a radical is in the denominator of a fraction, you can multiply the fraction by an appropriatc form
of | 1o eliminate the radical from the denominator. This process is called rationalizing the denominator.

Example 2  Simplify ’—E by rationalizing the denominator.
V7

lo_1o V7 Multiply by * 7
Vi Vi V7 V7
IO\’
—_ Product Property of Square Roots
Va9
-7 Simplify.
7
= B
Pl’a ctice Check your answers al BigldeasMath.com.

Simplify the expression.

Ok O o= O

@Eﬁ; \Tg % _\;1_ %

3 14 3
9, — 10, —— 1". = 12,
Vs VIO '8

Copyright © Big Ideas Learning, LLC
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Slope-Intercept Form

The x-intercept of a line is the x-coordinate of the point where y
the line crosses the x-axis. It occurs when y = 0. \ | y-intercept = b|

/‘
The y-intercept of a line is the y-coordinate of the point where (0, b) p—
the line crosses the y-axis. It occurs when x = 0. | Xemtercept =8

slope-intercept form. The slope of the line is m, and the

A linear equation written in the form y = mx + bisin (,.o)\fv
y-intercept of the line is . !

y=mx+b

@ 3t (intercept )

Example 1 Identify the slope and the y-intercept of the graph of each linear equation.

a y=-3x-8 b y—4=13x
y= —3x+ (—8) Write in slope-intercept form. y-l,x+4 Add 4 to each side,
P> The slope is —3, and the y-intercept is —8. D> The slope is 3, and the y-intercept is 4.

Example 2 Find the x-intercept and the y~intercept of the graph of 2x + y = 4.

To find the x-intercept, substitute 0 To find the y-intercept, substitute 0
for y and solve for x. for x and solve for y.
2x+y=4 2x+y=4
2+ (0)=4 20)+y=4
x=12 y=4

P The x-intercept is 2, and the y-intercept is 4.

~

v Practice Check your answers at BigideasMath.com.
Identify the slope and the y~intercept of the graph of the linear equation.
1. ymdx+7 2. y=-3+8 Ly=3x-6
®y+9-—5x 5. y—2x=—6 ®7+y=-§x
Find the x-intercept and the y-intercept of the graph of the equation.
y = 2x 8 y=x+8 y=3.x+6

10. 3x+y=9 @?.z+3y=12 12. 2x—5y=10

13. SHOPPING The amount of money you spead on x books and y movies is given by the equation
8x + 12y = 96. Find the intercepts of the graph of the equation. What do these values represent?

T e N
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Writing Linear Equations
Given a point on a line and the slope of the line, you can write an equation of the line.

Example 1 Write an equation in slope-intercept form of the line that passes through the point (-5, 6)

and has a slope of .
y=mx+b Write the slope-intercept form.
6=(=5)+b Substitute 3 for m, =5 for ,and 6 for y.
6=-3+b Simplify.
9=b Solve for b.

3 So.dueeqnﬁonisy-%x*-&

A linear equation written in the form y — y, = m(x — x,) is in point-slope form. y
The line passes through the point (x,, ,), and the slope of the line is m. .y

—
| slope l Y=y
Oy, yy)

yon- m(x = x,)

’ * - X — X, -
(passes through (x,, y,)) r / '
Example 2 Write an equation in point-slope form of the line that passes through the
point (—8, 3) and has a slope of 7.
y=y =mx—x) Write the point-siope form,
y—3m= %{x - (—8)) Substitule%form.—sfor x,,and 3 for y,.
y—3=Xx+8) Simplify.
P So, the equationis y — 3 = 3(x + 8).
& : R
Practice Check your answers at BigldeasMath.com.

Write an equation in slope-intercept form of the line that passes
through the given point and has the given slope.

(L3)m=2 2. (4,2:m=3 3. (-2,3m=3
4 6 ~Sym=} (5D -21m = (&) (-7, -3 m= -2

Write an equation in point-slope fo f the line that passes through
the given point and das the given slope.

7 (L1m=S5 —3.4);m=2 9. (6,~3xm=3

10. 5, 7m=3 1) (4,5 m = —3 12. (-2, -3)im=—}

m

Copyright © Big Ideas Learning, LLC Topic 7.4
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Graphing Linear Equations

Example 1 Graph x + 3y = -3 using intercepts,

Step1 To find the x-intercept, substitute O for y. Step 2  Graph the equation.
x+3y=-3 o waas et et Y - O : i
g e L1 N The y-intercept is
x+3(0)= -3 ’i,’f:iy aff | [ #| | ~1. So, plot (0, —1).
x= =3 o - 5
.‘- )
To find the y-intercept, The x-intercept is = <23 4z
substitute O for x. 3. So, plot (-3, 0). G0 >
1 D
1*3)'. -3 .-3 '—I—L ¥
0+3y=-3 B EEE
yg < =SHTT1 a Draw a line
y ;-s 1 through the points.
Example 2 Guphyngx-zmmmslopemm P ST T
—— e =2 4 8 O SN )
Y=§x+(-2) ] R -_:/’{,Usemesbpetoplot]
EEETEED% 22_; another point, (3, 0).
- ¢ i | (o"_.—.z) '
The y-intercept is = A3 —%3' |
=2. So, plot (0, -2). =]
:-‘{Zz,‘+3y,;'] Draw a line
l RE DR Jhrough the points.
Pa. & S ‘1
Practlce Check your answers at BigldeasMath.com.

Graph the linear equation using intercepts.
@x—4y--8 @—mx+9y=1z @zx-sy-xz

Match the equation with its graph. Identify the slope and y-intercept.

@yﬂh-Pl @y-%x—z y-—§x+l
- T —r ‘ pazttye e
A, s B. | | 2 C. i IR L
2 2 \‘ 2 sl
1 ; 1

21 123 32 1 2 3x Dt por I )

= L, L,

| |
=3 =3 -3
|y 1 |t

Copyright © Big Ideas Learning, LLC Topic 7.7
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Solving Systems of Equations

A system of linear equations is a sct of two or more linear equations in the )
same variables. An example is shown at the right. A solution of a system of x+2% =35 Equation 1
linear equations in two variables is an ordered pair that is a solution of cach x—y=-1 Equation 2

equation in the system. =

Example 1 Solve the system of linear equations above by (a) graphing, (b) substitution, and (c) elimination.
a. Graph each equation. The graphs appear to intersect at (1. 2). Check this point.
Equaton1 x + 2y =S5 Equation2 x—y = —1|

Rl

l+2(2)=?5 =23 =}
5'-‘-5/ -l—'-I/

P The solutionis (1, 2).

b. Solve for x in Equation 2. x—=y= -]
x=y~-|
Substitute y = 1 for x in Equation 1 and solve for y. x+2y=5
(y=D+2y=S5
y=2
Substitute 2 for v in Equation 2 and solve for x. r—y=-1
x=2= -]
x=1
P The solution is (1, 2).
<. Multiply Equation 2 by 2. Then add the equations and solve the x+2y=5 = x+2y=5§
resulting equation. X—y=-—]= 2x—=2ym= =2
Ix=3
Substitute 1 for x in Equation 2 and solve for y. x=y==] x=|
| —y=~
P The solution is (1. 2). Y '
2=y
0 3 \
Pra Ctlce Check your answers at BigldeasMath.com.

Solve the system of linear equations by graphing.
1. ymx—3 @-sz—-n @l\'+y=5 4 9x-3y=3
y=-x+1 x+y=4 dx -2y =6 x+y=1

Solve the system of linear equations by substitution.

5. y=1-x x=_v+3 @h—y=5 x—2y=-3

~x+v=4 Sx=y=17 2x—y=-3 Tx=2y=15

Solve the system of linear equations by elimination.

9, ~&x+2y=-2 .\'—4}-=—3 1. x+5S5y=-2 @2:+3y-5
2x+y=5 dx+y=35 Sx+y=14 4x+6y=-10

Copyright © Big Ideas Learning, LLC Topic 7.5
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Date

Parallel and Perpendicular Lines

Paralle] lines are coplanar lines that do not intersect. Nonvertical parallel lines have the
same slope. Two lines that intersect to form a right angle are perpendicular lines. Two
nonvertical lines are perpendicular if and only if the product of their slopes is —1.

Example 1 Determine which of the lines are parallel
and which are perpendicular.

Find the slope of each line.

' R e, o)
Linea: m A=)

Lineb:m--:ll—__(-;—ﬂs—ii
2= .

3—-4 4
2—-0
2-(—9)

= -3

Lincc.m=

Lined: m= 3

>
lines a and d are perpendicular and lines b and d are perpendicular.

Because lines a and b have the same slope, lines @ and b are parallel. Because 3(—3) = ~1,

ﬁ -
' Practice

i Ay @ ‘¢

2,0

quadrilateral a parallelogram? Explain your reasoning.

5. GEOMETRY The vertices of a parallelogram are J(—5, 0), K(1, 4), L(3,
parallelogram a rectangle? Explain your reasoning.

Copyright © Big Ideas Learning, LLC

4. GEOMETRY The vertices of a quadrilateral are A(—S5, 3), B(2, 2), C(4, —

Check your answers at BigldeasMath.com.

6

3), and D(—2, —2). Is the

1), and M(—3, —3). Is the

Topic 7.8
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Determine which of the lines are parallel and which are perpendicular. Show your work.




Name Date

Equations of Perpendicular Lines

You can use the slope-intercept form or the point-slope form to write equations of perpendicular lines.

Example 1 Write an equation of the line passing through (3, 8) that is perpendicular to the
liney = —3x + 4.

Step 1 Find the slope of the perpendicular line. The graph of the given equation has a slope of —3. Because
the slopes of perpendicular lines are negative reciprocals, the slope of the perpendicular line passing

through (-3, 8) is .
Step 2 Use the slope m = § and the slope-intercept form to write an equation of the perpendicular line passing
through (-3, 8).
y=mx+b Write the slope-intercept form.
S=4-3)+b Substitute  for m, —3 for x, and 8 for y.
9=p Solve for b,

P> So. an equation of the perpendicular line is y = }x + 9.

Example 2 Write an equation of the line passing through (1, —2) that is perpendicular to the

line 2x — 3y = -9,
Step 1 Find the slope of the perpendicular line.
2x—3y=-9 Write original equation.
y=§x+3 Solve for .

The graph of the given equation has a slope of 32- Because the slopes of perpendicular lines are negative
reciprocals, the slope of the perpendicular line passing through (1, —2) is —3.
Step 2 Find the slope m = —%andlhepoint-slopeformtowriteanequaﬁonoftheperpendicularlincpming

through (1, —2).
y—y =mx—x) Write the point-siope form.
y=(-2)= —3x~1) Substitute ~3 form, 1 for x,, and —2 for y,.

y+2=-}x—1) simplify.

P So, an equation of the perpendicular line is y + 2 = —3(x — 1).

d )
P-I’actlce Check your answers at BigideasMatir.com.

Write an equation of the line passing through point P that is perpendicular to
the line.
(DP-4,5;y=-ax+2 (D r6.25y=—te+1

@P(-3.7);2x+y=—5 @P(d.—i):y+2=-;(x-5)

()ra.ony=s @P(-G. ~1x=3

Copyright © Big Ideas Leamning, LLC Toplk 7.9
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Name Date

Ratios and Proportions

A proportion is an equation stating that (wo ratios arc equivalent. Two quantities that form a
proportion are proportional.

AW
ol

The proportion is read "3 isto 435 6isto 8.7

Example 1 Tell whether the ratios form a proportion.
30

21

=3

4 6
T .

a. Compare the ratios in simplest form, O Use. the ¢ (0SS FFOJUG“S P“OPG"*'Y.)

L4441
12 2=4
! i (Theutiosareequhnlent)
2.- 6+6 -.l; i .
18 18+6 3 7
L3 So.%andl%famapmpuu’on. 72 ‘72 YeS,SO
-:'lz- ond f"—g- form
b. Compare the ratios in simplest form. %
18 18+9 2 e .
The ratics are not equivalent.
& = 30+ 3 S _l_g ‘_Qr—,vzwa
21 21+=3 7
3 So.%andg%donotfomapmporﬂm
( g B
Practice Check your answers at BigideasMath.com.
Tell whether the ratios form a proportion.
23 6 15 4 2
B35 292 * 106
@2 @51 6. 59
12'28 24’28 1536
72 3 g 3857 o, 016
10' 8 14’21 25" 12
45 75 64 56 72 63
0 5% %% 2 3%

@ FITNESS You can do 62 push-ups in 2 minutes. Your friend can do 93 push-ups in 3 minutes.
Do these rates form a proportion? Explain.

14. KAYAKS You and your friend rent kayaks. Are the rates Cost | Hours
for renting a kayak proportional? Explain your reasoning. You $23 2
Friend | $30 3

Copyright © Big Ideas Learning, LLC Topic 8.2
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Name Date

Solving Proportions
Inu'cpropofﬁon%=:—!.mepmdmun-dnndbwmcalledao-m.‘rosolvepmpmm.
use the Cross Products Property.

- 4 -Crossrroductsl‘ropony o _“_]

Wuﬂsmcmspmducuofaproponionmcqpai

Numbers | Algebra

| 2.4 a_¢

| 3%% "

{ 246=3+4 ad = be,

l wbacb#Omdd#OJ

19. 20.

x.3 Bt
o 6 2 . y 9
xe2=6-5 Cross Products Property 8e9=ye4
2x =30 Muitiply. 72 =4y
x=15 Divide. 18=y
P The solution is 15. P The solution is 18.

v N\
Practice Check your answers at BigideasMath.com.
Solve the proportion.

1.2 2.2 2.2 2
3 s = 5 10 % 9 3 e
4_k m_3 1_p (» 2-2
3% & %"% L 54 3
1B_7 E:é 21 _42 a2
. a 2 b 5 WA o 16 g
21 _7 25 _§ 9 _36 4 20
13.-;— 3 14.7 3 15. % 16. T
‘24 12 15 45 y 16 54 ¢

PENCILS Thirty-six peacils are packaged in 6 boxes. How many pencils are packaged

in 10 boxes?
@TICKETS Two tickets cost $15. How much does it cost to buy seven tickets?
@SALADS Three salads cost $6.50. How much does it cost to buy six salads?

FIELD TRIP There are 108 students on a field trip. The ratio of girls to boys is Sto 4.

How many are girls? :

Copyright © Big Ideas Learning, LLC Toplc 8.3




Solve each proportion

n-9

21
)n+5

23) §=
3 7v+4

e e va— ) ~———

. Leave your answer as a fraction in simplest form.

i_ 4
lOﬁa—3

4 8

n 3

18 =-—
)n+l 5
20) x+6=l70

& _ 4
b+9 b+S5

8 6
24 =
) 5x-4 x+5§

s LA S A s bt § AL B A LD A SR T L S § e+ e S 3

BRAYRL N ALATE AL

T YT Ty

S & e e AL’ Bk SERan S o a
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Name

Perimeter and Area of Figures

Perimeter and Area of Polygons
The perimeter P of a figure is the distance around the figure. The area A of a figure is the number

WA WO

T e

of square units enclosed by the figure.

Perimeter and Area

TRAY 11 00 O AT 90e el i i BT e

~ aa

Square Rectangle Triangle Paralielogram Trapezold
T ] O b,
Lo v WS SRS B
ol [
| ! h b bz
P=4s P=28+2w P=a+b+c A=bh  A=3hib +b,)
A= A= bw Ax%bh
Example 1 Find the perimeter and area of the figure. 7in.
P=28+2w A= 2w - =
5in.
=207) + 25) =1(5) g S
=24in. = 35in?
b 2 )
! Practice Check your answers at BigldeasMath.com.
Find the perimetearea of the figure.
— 2 aje (:)
O O s
i1 1 20ft 10yd -
. M1am a3
0 KRR - 21 ft
7in. [
e -6 yd——6 yd—f
Find the area of the figure.

Use a geometric formula to solve the problem.
9. A triangle has a base of 7 feet and an area of 63 square feet. Find the height.
10. A rectangle has a length of 6 inches and a perimeter of 28 inches. Find the width.

Copyright © Big Ideas Learning, LLC
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Name Date

Circumference and Area of a Circle

A circle is the set of all points in a plane that are the same distance from a point circle radius, r
called the center. The distance from the center o any point on the circle is the radius.
The distance across the circle through the center is the diameter. The diameter is twice
the radius.
o center
The circumference of a circle is the distance around the circle. The ratio 9%'%:7"‘:—‘- diameter, d
is the same for every circle and is represented by the Greek letter o, called pi. Piis an
2
irrational number whose value is approximately 3.14 or -27—"
l Circumference of a Circle ! Area of a Circle ]
| — o—— s ) - i — _;
The circumference C of a circle 1s equal to wtimes  The area A ol a circle is the product of =
' the diameter d or 57 imes twice the radius 7. and the square of the radius.
C=adorC~=2 | A= 1;,3

L R = | : e
Example 1 The diameter of a circle is Example 2 The radius of a circle is 5% feet.

8.5 meters. Find the radius. Find the diameter.

r= g Radius of a circle d=72r Diameter of a arcle

= 32—‘ Substitute 8.5 for d = z(s}) Substitute 53 for 1
=425  Divide. =113
P The radius is 4.25 meters. B The diameter is 113 feet.
Example 3 Find (a) the circumference Cand (b) the area A of the circle.
a. C=mnd b. A=mr?
= n(12) = (6) e
=377 = 36m
P The circumference is about 37.7 yards. = [13.1

P The arca is about 113.] square yards.

-
Practice Check your answers at BigldeasMath.com.

11. The radius of a circle is 4.6 millimeters. Find the diameter.
12. The diameter of a circle is 2} miles. Find the radius.

Find the circumference and area of the circle with the given radius or diameter.
r = 16 inches o = 10 centimeters 15. r =T meters 16. d = 2.4 yards

The area of a circle is 8147 square feet. Find the radius.
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Name Date

Measuring and Classifying Angles

A protractor helps you approximate the measure of an angle. You can classify angles

according to their measures.

Types of Angles

A/> AL > A A
acute angle right angle obtuse angle straight angle
Measures greater Measures 90°  Measures greater than ~ Measures 180°
than 0° and less 90° and less than 180°

than 90°

Example 1 Find the measure of each angle. Then classify the angle.
a. LGHK

?, &
b. ZJHL 2 b L ‘&
c. ZLHK a8 s’s_

a.H—GlincsupwithO%ntheomc:scdeofthepromonﬁpum G H ]
through 125° on the outer scale. So, mnZGHK = 125°. Itis an
obtuse angle.

b. FiJ lines up with 0° on the inner scale of the protractor. HL passes
through 90°. So, mZJHL = 90°. Itis a right angle.

c. HL passes through 90°. HK passes through 55° on the inner scale.
So, mZLHK = |90 — 55| = 35°, It is an acute angle.

a s ™\
Practice Check your answers at BigldeasMath.com.

Use the diagram to find the angle measure. Then classify the angle.
£BOC

ZAOB
£ZDOB
ZDOE

5.) ZAOC

6.) ZBOE

(7.) zE0C
(‘8) zcop

Copyright © Big Ideas Learning, LLC Topic 10,10
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Indicator marks for sides and angles in a triangle diagram

Indicator marks are used to show whether two or more sides are congruent (equal in measure).

/AVA

Three sides of different Two sides with the same All three sides with the
lengths. length, the third side with same length.
a differant langth.

Indicator marks are also used to show whether two or more angles are congruent (equal in measure).

VAN

Three angles of different Two angles with the same All three angles with the
measures. measure, the third angle same measure.
with a different measura.
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Name Date

Classifying Triangles

You can use angle measures and side lengths to classify triangles.

Classifying Triangles Using Angles
acute triangle obtuse triangle right triangle equiangular triangle
all acute angles 1 obtuse angle 1 right angle 3 congruent angles
Classifying Triangles Using Sides
scalene triangle isosceles triangle equilateral triangle
at least 2 congruent sides 3 congruent sides

Example 1 Classify each triangle by its angles and by its sides.

- 15 25° "
a0

The triangle has one obtuse angle
and no congruent sides.

P So, the triangle is an obtuse scalene triangle.

and two congruent sides.

The triangle has all acute angles

P> So, the triangle is an acute isosceles triangle.

Py {
Pr actice Check your answers at BigldeasMath.com. |
Classify the triangle by its angles and by its sides.
G 6«
<4
J
39° w
Copyright © Big Ideas Leaming, LLC Topic 10.12
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REVIEW: Surface Areas of Prisms Name

Visual Model
Net for a Rectangular Prism w
h ¢h ) Zh ;‘j }
[ w w
S=280w+ 24h+ 2wh i w éw
® o - £
Skill Example Application Example
1. 2. Find the surface area of the block.
i szz(%o3-4)+4-s+3-4+4-4
o 2 ft =12+20+12+16 !
S=2(4+2)+2(43)+2(2+3) = 60 cm? :
=16+24+12 ; '« Theareais60cm?® ™
= 52 ft? y

PRACTICE makes PURR-FECT”,
Find the surface area of the prism.
3. Rectangular Prism Rectangular Prism 5. Rectangular Prism

———— Check your answers at BigideasMath.com.

S=

9. AQUARIUM How much glass is used to make
the four sides of the aquarium?

10. AQUARIUM How much glass is used to make
the base of the aquarium?

Copyright © Big Ideas Leaming, LLC aft P



REVIEW: Surface Areas of Cylinders  Name P
Key Concept and Vocabulary —— ;
i - id Visual Model :

: e Circular Cylinder r
¢ Q -
: E

S=2m?+ 2arh J @A
ot 2ar

Skill Example Application Example
1. 2. Find the surface area of —3in.—
the soup can. -l—
S=2mw+1.52+2m+1545 v
5in
- =457+ 157
S=2m3%+2m+3.2 = 19.57in.2 10 ,
=187+ 127 . :
= 304 f2 i+ The areais 19.57 square inches.
PRACTICE makes PURR-FECT™, :
Check your answers at BigldeasMath.com. e !
Find the surface area of the circular cylinder. A
3. Circular Cylinder @Circu!ar Cylinder @Circular Cylinder
5mm 12¢cm
Bem
]
s = = =
7. Circular Gylinder o ircular Cylinder

9in, /—1;“—\

A NMAYEOHR IS e

9. OILTANKER TRUCK The truck’s tank is a stainless steel
cylinder. How many square feet of stainless steel are

needed to make the tank?

10. OIL TANKER TRUCK What percent of the stainless steel in
the tank is used to make the two ends?

Radius = 4 ft

Copyright © Big Ideas Leaming, LLC Topic 12.3



REVIEW: Surface Areas of Name
Pyramids and Cones

Kcy Concept and Vocabulary ﬁ

slant heuqh( Visual Model
/ lateral faces
Net for a '
Square |

L S = Base Area + Lateral Area

slant height

Skill Example Application Example

1. | Cone 2. Find the lateral surface area
fodin of the square pyramid.
1
st art ) §=4[340.35]
=mwe22+ w244 = 2800 m?
=hzein 3 :+ Theareais

2800 square meters.

PRACTICE makes PURR-FECT",

Find the surface area of the pyramid or cone.
3. Square Pyramid Square Pyramid 5. Square Pyramid

Check your answers at BigldeasMath.con. e

10 ft

9. VOLCANO Find the lateral surface area of the volcano.
Use 3.14 for . Round your answer to the nearest
hundred square feet.

10. VOLCANO Find the area of the circular region covered by
the base of the volcano. Use 3.14 for 7. Round your answer
to the nearest hundred square feet.

Copyright © Big |deas Learning, LLC p——3500 ft———— Topic 12.4

— gy oy — s =

- T XY

S LTS 1T T

1

&8 3



Geérr\cjrf Y Honor= Sum meAjPackcf

Answer Key

Rewr hr\g Lifecol E obuo-ﬁons

Og Xfx 82()(,2)
= % . 2.
®5V 5-—:;2 @ 57 57
Solving Linear Equotions
» e No ® Jes @m;'%
6 & No® e @ + “l/
@ ¢ =29 @ ** 72
Properhes of Syvore Roof
o 23 04T
® 2{z ©® (0[4}‘
10
» 105  © do
fytho goreon Theorem
@ 1 yd © 0.%3m

(3 1dmm @ tin




1

gféfé— I ndercept Form

3 x-int (0,0)

@5\@@:—5 @X|(]f /
5-’§Dn+ (0 -9) ¢ (6,0)
) @ x-int ('2,03
© slope = ~% y-int (0,6)
4-ind (0,-7) D x-iot (6,0)
%/':ﬂ‘V(O, 45

U\S(—\%Y\q L ineos E@UQH_&E
® 4= Zxt) ® 8”%126(*9

® ¢= X ® 427 -3 (x#4)

@%; *_/7‘___X'5

Graph the linear equation using intercepts.
—18x+ 9y =72

] M
| | 0, 8,
H F/tl )|
i £6
,'*i“. .

4

*? 2 — e
! -—

- -

| 3
- Xl

Match the equation with its graph. Identify the slope and y-intercept.

1 e
®y=2x+l ®y=§x-2 y— S+
A. Y] B. R C. R Y
2 2 NG 2
1 1
2 < - N
-3-2-1 [ 1 2 3 -3 -2 1 2 3x —3-2-1 Nas
L = i :“2
3 -3 =3
|y i Ly

LB; slope: 2, y-intercept: |

T B ‘1 E, 2= =
A; slope: T y-intercept: —2 (ﬁ slope: —3 v-intercept: 1

l




> Wing Syshems oF Equofions

® (3,1) @ (8 19) @ Nosolution
@ (2,1) ® (3 3)

© (4,=2) ® (1,1

Ecu’ovﬂc\ + P@rPe,n&co\arl:lrl_é_—f

6O eh by ¢k d

@ &//b;c//cj; alc a,LA;bJ,C; b 1d
® b/c; bld;c Ld

Eiuaﬁons - Terpendiculor L
A

O ===t 5:1’7”&

@%’f&(‘lb o
R ) 5

® Yeo (3 Yes, both con do
Nes 2| pushups per
?D No itte - ¥

<pIViNg PFOPOFHOHS
144 (2> 6O @ b0
@ 43 @ ¥52.50
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‘ S\O\V\mﬁ FFOPOV’HOHS (Conﬁnueeb.—

@C\:Q?) @m:r’:)(o
B p= 5 G b=3
® x=13

 Fecameler +Prea of X:]qo(as
@D P=28n. @)F:jZYA}A’HL@YJ

A=H49 0" .
B P-70Fk @ b

A= 210F+"
Circumference = frea
@ C = 327 A =BT i

inches

B ¢ = |Orem, k= Z5mem’

G 3 5

Measunim +Classfying pmg\é

o BO° acdte U@ 15° acvke & 55° acvie
@ 140°, obtuse ® 90°, nght @ 130° obtuse
@ 180°, strought ® 109° obtvse

AN Tl/l les

7

()oass & ridkhaoa
ot les riant Scalene
® right 1SOSCE 2 adle scatene

@E@ge—}saéce‘eé @Cév\‘ahal,
@ egbiongilar oy elstuse scolene

(D obhee 1sosceles



Sur face /’sreas of \Dr"\‘
B S=198 cm”®
® S= 136 m*

sms
P S=T2em”

@)f}>57ﬂrnﬂf

< foce ix’@é_gf C ;,}\‘m&ers
S = BT
& S=90m cm’
@ S=\12b1 m’

<o Soce Prea of Pyromias
® S- 44 F+°
® AFTIN°

+Cones
Lonec=

—— -~ ' AR

S ————————————— S S s

BRI A BT AR ML I W R 108 Ve sen et e e
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